16,

15,

14,

PART 0 — (5 = 8 =40 marks)

Answer ALL questions, choosing either (a) or (b).

Fach answer should not exceed GO0 words.

(&)

(b)

{a)

(b}
(@)

{1y

(n)

What arve the features of underdeveloped
oconomy’?

Or
Differentinte the human development index
and gender-related development index.

Discuss the overview of Indian five year
plans,

Oy
Narrate the two 2ector Mahalanobis model,

Explain the effects of Green rovolution.

Or
State and explain the significance of organic
farming

Point out the progress and problems of

Textile industry.

Or
Discuss the impact of globahzation on Indian
economy,

Analyze the major sources of energy in India.
Or

Muke a eritieal assesamoent on the progress

and problems of higher education in [ndia.
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Second Semester
Feonomics
Eleetive : INDIAN ECONOMY
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PART A — (10 = 1 = 10 marks)
Answer ALL the questions.
Choose the correct answer.
.  Human Development Index excludes,
(a) Life expectancy
(by Education
(¢) Real per capita income
(d) Infant mortality rate
According to  MahbubUlHag, the essential
components in the human development paradigms
are,
{a) Eguality
{c) Empowerment

]

(b) Sustainability
(dy  All the above

3. The period of Twelfth ive Year plan is.
(a) 2012~ 2017 (b) 1998 — 2003
(¢} 1994 - 2004 (dy 2001 - 2006
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The problems of ceiling on land holdings.

{a) Malafide transfer

(b} Compensation and allotment of surplus lands
{t) Both (a) and (b)

{d) Neither (a) not (h)

The success of green revolution depends on the
availability of.

(a) High yielding variety of seeds

(b) Adequate irrigation facilities

(¢) Chemical fertilizers and pesticides

{d) All the above

Which of the following is the ecriterion for
demarcating an industry as small, medium or
large scale?

(a) The amount of capital invested

(b) The number of people employed

(¢) The value of turnover

" (d) The price of the product turned out

The integration of national economies with global
economics 18 known as

(a) Globalization (b)
{¢) Integration td)

Privatization
Liberalization

The vears of plan holiday.
(a) 1947 50 () 1965 — 68
{c) 1950-53 (d) 1966 — 69

The state which has the largest coastal in India is

(a) Andhra Pradesh  (b) Tamil Nadu
(c) Kerala (d) Maharashtra
Page 2 Code No. : 5816

160,

11.

13,

14

Major problem faced by energy sector

(a)
(b)
(c)
(d)

Rising oil prices

Rising import bill

Sick state electricity boards
All the above

PART B — (b % 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words,

(a)

(b)

(a)

(b)

()

Explain  the components of human

development.

Or
Brief the caleulation of human development
index.
Explain the strategy of eleventh five year
plan.

Or
What are the objectives of twelfth five year
plan?
Point out the advantages of co-operative
marketing,

Or
List out the objectives of land reforms.
Fxplain the importance of MEMEs,

Uy
Brief the methods of privatization,
Indicate the importance of energy resources
in India.

O

(live a note on vocational education.
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